A

AIWHUIN
fa: Suii: ATUUY:
73 — 2122 — 49x 82 — 8
Tx x—1
24x2 + 65x + 21 16x3 — 32x% — 24x
3x+7 4x
16x° — 48x2 + 8x+ 30 64x° — 3222 — 56x
2x— 5 &x
56x% + 82x + 30 483 — 642 + 24x
Tx+5 &x
1423 + 3522 + 14x — 63 500 + 342 — 12x+ 1
Tx—"7 5x—1

www.snowmath.com




ADINUUY

fa:

7> — 2157 — 49x

Tx
X —3x—7

24x% + 65x + 21
3x+7
x+3

16x3 — 482 + 8x + 30
2x—5
8x% — 4x— 6

56x% + 82x + 30
Tx+5
&x+ 6

14x3 + 35x%2 + 14x— 63
Tx—"7
2%+ 7x+9

Jun:

8 — 8
x—1
&+ 8

16x° — 32x% — 24x
4x
4x2 -8 —6

64x> — 320¢ — 56x
&x
8x2 —4x—17

48x° — 64> + 24x
&x
6x° — 8x + 3

500 + 342 — 12x+ 1
5x—1
A+ Tx—1
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ASLLUU:




